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Amir and Whitney are making arrays.
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Who has made a mistake? Explain why.
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Make Arrays
Reasoning and Problem Solving

Amir and Whitney are making arrays. Possible answer:
Whitney has made
Whitney | 5 mistake because
her array is not in
columns. There
are an unequal
amount of squares
Who has made a mistake? Explainwhy. | in each row.

Teddy and Alex are writing number

Possible answer:
sentences to describe the array.

) _ | Theyare both
%@:! [T PUAng | rcht. Teddy has
eddy counted the
columns. Alex has
counted the rows.

Eva begins to make an array with 40
counters.

She has finished her first row and her
first column.

Complete her array.

Write two different number sentences to
describe the finished array.
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Possible answer:
Array showing 10
+10+10+10=
40

Or
4+4+4+444+4

4+4+4+444=
40
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